M= 64,45

Wp;= 0,184
M,= 157,23 we,= 0,814
Wg,= 0,3 wg,= 0,002
W= 0,7 M= 966,72
M1= 172,65 WD5= 0,165
W= 0,65 Wes= 0,726
2 5 REACCIO e > FLTRACIO  ——>
M= 1031,17 M.= 105.35
Wpe= 0,166 W;‘g: 3E-3
Wee= 0,732 Weg= 0,015
Weg= 0,102 Weg= 0,982
M,= 531,37 M,= 105,47 M= 861,37
We=1 W= 1 Wpe= 8,;%133
Weo= Uy
Weo= 1,85E-3
M,,= 45,2
Wepp=1
\ 4
CRISTAL-LITZACIO < EVAPORACIO
M,,= 205,46
_ W= 0,771 M= 655,91
Mi,= 160,26 Wepp= 0,22 Wego= 1
Wp,5= 0,988 wook3
Wg3=0,012 V¥ Ei
A: HNO4 M: kg/h
B: NH,4 w: m/m
C:H,0
D: NH,NO,
E: Impureses




